 (
D
atabase
Of
University 
)Introduction to database-IT244 Project
Instructor's name: Afra alrubaiaan. 
 Student's names: Sarab AL-Ahmer-130007503 
                                Suha AL-Awbathani-130005417
 (
The an ER diagram for the database and convert to Relational Schema
)
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.
              *Relational Schema :
Student (s-ID, name , nationality , dept_name ,email, DOB)
Instructor ( i-ID . name , dept_name , salary ,office number, email )
gives( s-ID , i-ID ,  date)
Department (dept-name , building ,budget)
Course (course id , title )
section ( course id, sec id, semester, year, building, room number)
takes (s-ID, course id, sec id, semester, year, grade)
teaches (i-ID, course id, sec id, semester, year)
classroom (building, room number, capacity)

 (
The normalization process. (show each table in 1NF,                  2NF, 3NF)         
)


We have seven (9)  table our university database .
      1- Student - table
	s-ID
	name
	nationality
	dept_name
	email
	DOB

	123
	Suha Mohammad
	Yameni
	IT
	s.@gmail.com
s.12@hotmail.com
	1-1-1986

	145
	Hind Ahmad
	saudi
	History
	hind@yahoo.com
	2-9-1988

	156
	Sara Hassan
	saudi
	IT
	Ssaa.156@hotmail.com
	3-7-1987

	167
	Amal Salem
	syrian
	Biology
	amal@gmail.com
	11-6-1990

	190
	Rana Fahad
	Egyptian
	Physics
	Rana@hotmail.com
R190@gmail.com
	7-12-1991



1- First Normal Form (1NF)
In 1NF we remove multi value attribute and repeating group.
               R1(s-email)
	email-ID
	s-ID
	email

	661
	123
	s.@gmail.com

	662
	123
	s.12@hotmail.com

	663
	145
	hind@yahoo.com

	664
	156
	Ssaa.156@hotmail.com

	665
	167
	amal@gmail.com

	666
	190
	Rana@hotmail.com

	668
	190
	R190@gmail.com


R2
	s-ID
	name
	Nationality
	dept_name
	DOB

	123
	Suha Mohammad
	Yameni
	IT
	1-1-1986

	145
	Hind Ahmad
	Saudi
	History
	2-9-1988

	156
	Sara Hassan
	Saudi
	IT
	3-7-1987

	167
	Amal Salem
	Syrian
	Biology
	11-6-1990

	190
	Rana Fahad
	Egyptian
	Physics
	7-12-1991


2- Second Normal Form (2NF)
In 2NF we remove partial dependency
In student table we don't have partial dependency – we have one primary key.
3- Third Normal Form (3NF)
In 3NF we remove transitive dependency
In student table we don't have transitive dependency – it means there is not noun prime attribute depending on noun prime attribute.

2-Instructor -table
	i-ID
	name
	dept_name
	salary
	office number
	email

	2222
	Ahmad
	IT
	7000
	12
	ahmad@hotmail.com

	1212
	Hamid
	History
	10000
	11
	H1212@gmail.com
hamid@yahoo.com


	4556
	Ali
	IT
	15000
	14
	Ali@hotmail.com


	8381
	Omar
	Biology
	9000
	11
	oomar@gmail.com


	1010
	Hani
	Physics
	13000
	17
	hani@hotmail.com




1- First Normal Form (1NF)
In 1NF we remove multi value attribute and repeating group.
               R1
	email-ID
	i-ID
	email

	121
	2222
	ahmad@hotmail.com

	122
	1212
	H1212@gmail.com


	123
	1212
	hamid@yahoo.com

	124
	4556
	Ali@hotmail.com


	125
	8381
	oomar@gmail.com


	126
	1010
	hani@hotmail.com







                      R2
	i-ID
	name
	dept_name
	salary
	office number

	2222
	Ahmad
	IT
	7000
	12

	1212
	Hamid
	History
	10000
	11

	4556
	Ali
	IT
	15000
	14

	8381
	Omar
	Biology
	9000
	11

	1010
	Hani
	Physics
	13000
	17


2- Second Normal Form (2NF)
In 2NF we remove partial dependency
In Instructor table we don't have partial dependency – we have one primary key.
3- Third Normal Form (3NF)
In 3NF we remove transitive dependency
In Instructor table we don't have transitive dependency – it means there is not noun prime attribute depending on noun prime attribute.

3- Gives - table
	s-ID
	i-ID
	date

	123
	2222
	2-8-2016

	145
	1212
	4-9-2015

	156
	4556
	7-4-2016

	167
	8381
	2-5-2016

	190
	1010
	3-5-2016


	
1- First Normal Form (1NF)
In 1NF we remove multi value attribute and repeating group.
In Gives - table we don't have remove multi value attribute and repeating group.

              2- Second Normal Form (2NF)
In 2NF we remove partial dependency
In Gives - table we don't have partial dependency.
3- Third Normal Form (3NF)
In 3NF we remove transitive dependency
In Gives table we don't have transitive dependency – it means there is not noun prime attribute depending on noun prime attribute.
4- Department - table
	dept_name
	building
	budget

	IT
	Riyadh
	120000

	History
	Dammam
	50000

	IT
	Jeddah
	80000

	Biology
	Riyadh
	120000

	Physics
	Dammam
	70000



1- First Normal Form (1NF)
In 1NF we remove multi value attribute and repeating group.
In Department – table we don't have remove multi value attribute and repeating group.
              2- Second Normal Form (2NF)
In 2NF we remove partial dependency
In Department – table we don't have partial dependency. We have one primary key.
3- Third Normal Form (3NF)
In 3NF we remove transitive dependency
In Department - table we don't have transitive dependency – it means there is not noun prime attribute depending on noun prime attribute.
5-Course - table
	course id
	title

	IT244
	Introduction of database

	BIO123
	Introduction of Biology

	IT210
	Comp. Network

	HIS222
	Intro. History

	PHY321
	Intro. Physics


1- First Normal Form (1NF)
In 1NF we remove multi value attribute and repeating group.
In Course – table we don't have remove multi value attribute and repeating group.
          2- Second Normal Form (2NF)
In 2NF we remove partial dependency
In Course – table we don't have partial dependency. We have one primary key.
3- Third Normal Form (3NF)
In 3NF we remove transitive dependency
In Course - table we don't have transitive dependency – it means there is not noun prime attribute depending on noun prime attribute.












6-Section-Table  
	Course -id 
	Sec- id
	Semester 
	Year 
	Building 
	Room number 

	IT -244
	1
	Summer
	2016
	Riyadh 
	555

	IT-244
	2
	spring
	2016
	Riyadh
	551

	BIO-123
	2
	Fall
	2015
	Dammam
	435

	IT-210
	4
	Spring
	2016
	Dammam 
	567

	HIS-222
	3
	Fall
	2015
	Jeddah 
	434



       1-First Normal Form (1NF)
In 1NF we remove multi value attribute and repeating group.
In Section – table we don't have remove multi value attribute and repeating group.
2-Second Normal Form (2NF)
R1:
	Course -id 
	Sec- id
	Semester 
	Year 

	IT -244
	1
	Summer
	2016

	IT-244
	2
	spring
	2016

	BIO-123
	2
	Fall
	2015

	IT-210
	4
	Spring
	2016

	HIS-222
	3
	Fall
	2015



R2:
	Course -id 
	Sec- id
	Building 
	Room number 

	IT -244
	1
	Riyadh 
	555

	IT-244
	2
	Riyadh
	551

	BIO-123
	2
	Dammam
	435

	IT-210
	4
	Dammam 
	567

	HIS-222
	3
	Jeddah 
	434



3- Third Normal Form (3NF)

R1:SECTION_R1:
	Course -id 
	Sec- id
	Semester 
	Year 

	IT -244
	1
	Summer
	2016

	IT-244
	2
	spring
	2016

	BIO-123
	2
	Fall
	2015

	IT-210
	4
	Spring
	2016

	HIS-222
	3
	Fall
	2015



R2: SECTION2_R2:
	Course -id 
	Sec- id
	Building 
	Room number 

	IT -244
	1
	Riyadh 
	555

	IT-244
	2
	Riyadh
	551

	BIO-123
	2
	Dammam
	435

	IT-210
	4
	Dammam 
	567

	HIS-222
	3
	Jeddah 
	434



R3: SECTION_R3:
	Building 
	Room number 

	Riyadh 
	555

	Riyadh
	551

	Dammam
	435

	Dammam 
	567

	Jeddah 
	434



7-Takes –Table :
	S-id
	Course-id
	Sec-id
	Semester 
	Year 
	grade

	123
	IT -244
	1
	Summer
	2016
	99

	156
	IT-244
	2
	spring
	2016
	80

	167
	BIO-123
	2
	Fall
	2015
	97

	123
	IT-210
	4
	Spring
	2016
	88

	145
	HIS-222
	3
	Fall
	2015
	89



       1-First Normal Form (1NF)
In 1NF we remove multi value attribute and repeating group.
In Takes– table we don't have remove multi value attribute and repeating group.

2-Second Normal Form (2NF)
R1: TAKES_R1:

	S-id
	Course-id
	Sec-id
	Semester 
	Year 

	123
	IT-210
	4
	Spring
	2016

	123
	IT -244
	1
	Summer
	2016

	145
	HIS-222
	3
	Fall
	2015

	156
	IT-244
	2
	spring
	2016

	167
	BIO-123
	2
	Fall
	2015


R2: TAKES_R2
	S-id
	Course-id
	grade

	123
	IT -244
	99

	156
	IT-244
	80

	167
	BIO-123
	97

	123
	IT-210
	88

	145
	HIS-222
	89



3- Third Normal Form (3NF)

In 3NF we remove transitive dependency
InTakes- table we don't have transitive dependency – it means there is not noun prime attribute depending on noun prime attribute.


8-Teaches-Table: 
	i-ID
	Course- id 
	Sec-id
	Semester 
	year

	2222
	IT -244
	1
	Summer
	2016

	2222
	IT-244
	2
	spring
	2016

	8381
	BIO-123
	2
	Fall
	2015

	4556
	IT-210
	4
	Spring
	2016

	1212
	HIS-222
	3
	Fall
	2015



       1-First Normal Form (1NF)
In 1NF we remove multi value attribute and repeating group.
In Teaches– table we don't have remove multi value attribute and repeating group.

2-Second Normal Form (2NF)
In 2NF we remove partial dependency
In Teaches – table we don't have partial dependency. 
3- Third Normal Form (3NF)
In 3NF we remove transitive dependency
In Teaches- table we don't have transitive dependency – it means there is not noun prime attribute depending on noun prime attribute.
9-classroom –Table:
	buliding
	Room number 
	capacity

	Riyadh 
	555
	30

	Dammam 
	435
	25

	Jeddah
	434
	25

	Abha
	666
	35

	Madina 
	767
	20



       1-First Normal Form (1NF)
In 1NF we remove multi value attribute and repeating group.
In Class room– table we don't have remove multi value attribute and repeating group.

2-Second Normal Form (2NF)
In 2NF we remove partial dependency
R1: CLASSROOM_R1:
	buliding
	Room number 

	Riyadh 
	555

	Dammam 
	435

	Jeddah
	434

	Abha
	666

	Madina 
	767



R2: CLASSROOM_R2:
	buliding
	capacity

	Riyadh 
	30

	Dammam 
	25

	Jeddah
	25

	Abha
	35

	Madina 
	20


3- Third Normal Form (3NF)
In 3NF we remove transitive dependency
In Class room- table we don't have transitive dependency – it means there is not noun prime attribute depending on noun prime attribute.
 











· SQL statements for creating tables and inserting data
· A screenshot for every created table and its data. 
   

Note: The program MYSQL does not accept Add foreign key
( MYSQL server 5.7) I mentioned the correct way to you before each create table.
1-Student table:
Create table student(
sID                   int   primary key,
name              varchar(30),
nationality     varchar(33),
deptname      varchar(20) references department,
DOB                 int);
[image: ]
[image: ]
Insert data in student table:
[image: ]







2-s-email table
Create table student(
EmailID     int   primary key,
sID             int   references student,
email         varchar(30));
[image: ][image: ]
Insert data in student table:
[image: ]

3-Table instructor:
Create table instructor (
iID                   int   primary key,
name              varchar(20),
deptname      varchar(30) references department,
salary              numeric (8,2),
officeNO         int );
[image: ]
[image: ]
Insert data in instructor table:[image: ]
4-i-email table:
Create table iemail(
iemailID          int   primary key,
iID                    int   references instructor,
email               varchar(30));
[image: ]

Insert data in i-email table:
[image: ]
5-Department table:
Create table department(
deptname      varchar(20),
bulding           varchar(30),
budget           numeric(8,2) );
[image: ]
Insert data in department table:
[image: ]
6-Gives table:
Create table gines(
Sid                  varchar(20),
Iid                   varchar(30),
date                date,
primary key (Sid,iID) );
[image: ]
Insert data in gives table: [image: ]


7-Course table:
Create table   course(
courseID     varchar(30)   primary key,
title              varchar(80),
);
[image: ]
Insert data in course table:
[image: ]














8-SECTION –R1TABLE:
create table section_R1(
Course ID  varchar (10) reference course,
SecID         varchar (10),
Semester    varchar(10),
Year            numeric(10),
Constraint pk_section_R1ID primary key (coursed ,secID,semester,year));
[image: ]
Note: we complete the table in another version , here The program MYSQL accept Add foreign key(MYSQL server 5.1)
 
9-SECTION2_R2 TABLE:
[image: ]



10-SECTION2_R3 TABLE:
[image: ]



11-TAKES_R1TABLE:
[image: ]



12-TAKES_R2 TABLE:
[image: ]



13-TEACH ES TABLE:
[image: ]



14-Classroom _r1 table:
[image: ]



15-Classroom_r2 table:
[image: ]




 (
SQL
-5-
queries and their results
.
A screenshot for every 
queries and their results
.
)
   

1. Find all instructors in IT dept with salary>5000?
[image: ]
2. Find all email for student who ID 1212?
[image: ]
3. Find all tuples if  instructor ID=1212 ?
[image: ]
4. Find all department name and building which budget 80000?
[image: ]
5. Find course-offered in summer and spring 2016?
[bookmark: _GoBack][image: ]
6. Find section ID for the building in Riyadh? 
[image: ]
7. FIND THE TOTAL NUMBER OF INSTRCTOR WHO TEACH A COURSE IN THE SPRING 2016?
[image: ]
image3.png
orresponds to your MySQL server version for
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ane varcha(383;

ationality varchar(33).

dept—nane varcha’ at line 3

3413 create table student

->
-3¢
-3 sID int prinary key.
-3 nane varchar(383,
-3 nationality varchar(33>,
-3 deptnane varchar<20>,
=3 Dobint
Query OK. @ vous affected <B.96 sec>

ysql> show tables;
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nationality
deptnane

Command Line Client

varchar<38)
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wsql> insert into student values <123, Suha
Query OK. 1 rou affected (8.45 sec)

wsql> insert into student values <145,’Hind Ahmad’,’Saudi’,’History’,2-9-1988);|
Query OK. 1 rou affected (8.22 sec)

wsql> insert into student values (156,’Sara Hassan’.’Saudi’,’IT’,3-7-1987>;
Query OK. 1 rou affected (8.38 sec)

wsql> insert into student values <167.’Amal Salem’,’Syrian’,’Biology’11-6-199)

Query OK. 1 rou affected (8.26 sec)
wsql> insert into student values <190,’Rana Fahad’,’Egyptian’,’Physics’,?7-12-19)

Query OK. 1 rou affected (8.17 sec)
wsql>
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create table semail
<

enaillD int primary key.
SID int .
gnail vakcharc3e)
Query OK: @ vous affected CL.75 sec>

wsql>
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=) sID int .
-3 email varchar<3@)
=5 5%

fauery 0k. 8 rous affected

nysql> desc semail;

intC11)
intc1i>
varchar<38>
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[1.com)’ at Line 1

ysql> use semail

acabase changed

wsql> insert into semail values <661,123,’s.@gnail.con’>;
Query OK. 1 rou affected (8.26 sec>

wsql> insert into semail values (662.123,’s.12Bhotmail.con’>;
Query OK. 1 rou affected <8.15 sec>

wsql> insert into semail values <663,145,”hindByahoo.con’>;
Query OK. 1 rou affected <8.86 sec>

wsql> insert into semail values (664,156,’Ssaa.156Bhotnail.con’;
Query OK. 1 rou affected <8.28 sec>

wsql> insert into semail values <665,167,’amalBgnail.con’>;
Query OK. 1 rou affected <8.28 sec>

wsql> insert into semail values (666.198,’RanaBhotmail.con’>;
Query OK. 1 rou affected <8.18 sec>

wsql>
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wsql> use instrocturs
[ERROR 1049 <42000>: Unknoun database
ysql> use instructor;
Dacabase changed
wsqly create table instructor

-3 GID int prinary key.

-3 nane varchar(285,

-3 deptnane varchar(30>,

-3 salary nuneric(8,2>.

=3 gificeNo int

Query OK: 0 vous affected <B.40 sec>

wsql>

*instroctur’
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wsql> desc instructors

iID
deptnane
salary

ofFiceNO

intC11>
varchar<20)
varchar<38)
decinalc8,2>
intCll)
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wsql>

9sql> use instructor;

Dacabase changed

wsql> insert into instructor values(2222,’Ahnad’,’1T’,7008,12>;
Query OK. 1 rou affected <B.11 sec>

wsql> insert into instructor values<1212,’Hamid’,’History’,10080,11>;
Query OK. 1 rou affected <8.89 sec>

wsql> insert into instructor values<4556,’Ali’,’IT’,15000,14>;
Query OK. 1 rou affected <8.96 sec>

wsql> insert into instructor values<8381,’Omar’,’Biology’,9000,11)5
Query OK. 1 rou affected <8.17 sec>

wsql> insert into instructor values<1018,’Hani’,’Physics’,13008,17>;
Query OK. 1 rou affected <8.98 sec>

wsql>
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wsql> create database iemails
Query OK. 1 rou affected (8.88 sec)

ysql> use iemail
Dacabase changed
wsqly create table iemail
=3 Ciemail int primary key.
-3 41D int.
-3 email varchar<3@)
=5 5%
Query OK. B rous affected (B.42 sec)

ysql> desc iemail;

intc1i>
varchar<38>
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wsql> use iemail;

Dacabase changed

wsql> insert into iemail values (121,2222.’ahmad@hotmail.con’);
Query OK. 1 rou affected <8.88 sec)

wsql> insert into iemail values <122,1212,’H12128gnail.con’>;
Query OK. 1 rou affected <8.11 sec)

wsql> insert into iemail values <123,1212,”hanidByahoo.con’>;
Query OK. 1 rou affected <8.88 sec)

wsql> insert into iemail values (124,4556.’AliGhotnail.con’>;
Query OK. 1 rou affected (8.89 sec)

wsql> insert into iemail values <125,8381,’comarBgnail.con’>;
Query OK. 1 rou affected (8.89 sec)

wsql> insert into iemail values (126,1810,’haniGhotmail.con’>;
Query OK. 1 rou affected (8.89 sec)
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wsql> use department;

atabase changed

wsql> create table department
=3¢

> deptnane varchar(28) .
-> huilding varchar<38),
=3 budget nunericcs,>

uery OK. 8 rous affected <B.41 sec>

sq1>
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=3 udget nunericcs.0)
Query OK. @ rous affected <B.41 sec)

ysql> insert into department values<’IT’,’Riyadh’,120008);
Query OK. 1 rou affected (8.12 sec>

wsql> insert into department values<’History’.’Damman’,50808);
Query OK, 1 rou affected <0.07 sec)

wsql> insert into department values<’IT’,’Jeddah’ ,80088);
Query OK. 1 rou affected (8.87 sec>

wsql> insert into department values<’Biology’.’Riyadh’,80088>;
Query OK, 1 rou affected <0.18 sec)

wsql> insert into department ualues<’Physics’,’Damman’ ,70080>;
Query OK. 1 rou affected <8.18 sec>
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create table gives
<

S1d varchar(3e),
ilD varchar(38>;
date date.

prinary kéy(sID. 110>

Query OK: @ vous affected <B.38 sec>

wsql> dese gives;

varchar¢38)
varchar<38>
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Dacabase changed
wsql> insert into gives
Query OK. 1 rou affected

wsql> insert into gives

Query OK. 1 rou affected

wsql> insert into gives
Query OK. 1 rou affected

wsql> insert into gives
Query OK. 1 rou affected

wsql> insert into gives
Query OK. 1 rou affected

values(123,2222,° 2016-08-2" >3
0.8 sec>

values(145,1212,° 2015-89-4">;
0.8 sec>

values (1564556, 2016-84-7" >3
0.89 sec>

values(167,8381,°2016-05-2" >3
0.89 sec>

values(199,1010,° 2016-85-3>;
0.8 sec>
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wsal> create table course
=3 ¢
=3 courselD varchar(30> primary key.
=3 §He1e varcharcB>

uery OK. 8 rous affected <B.47 sec>

sq1>
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wsql>

wsql>

ysql> use course;

Dacabase changed

wsqly create table course
=5 ¢
-3 courselD varchar(38> primary key,
=3 gitle varchar(so)

Query OK. B rous affected (B.47 sec)

ysql> insert into course values(’T244°,’ Introduction of database’>;
Query OK. 1 rou affected <8.89 sec)

wsql> insert into course values<’BI0123’,Introduction of Biology’>;
Query OK. 1 rou affected <8.16 sec)

wsql> insert into course values(’IT210,’Comp.Netuork’>;f Biology
Query OK. 1 rou affected <8.83 sec)

> insert into course valuesCHIS222'.
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create table section RLC

=3 courselD varchar (185,

-3 secID varchar (183,

-3 senester varchar (i8),

-3 year nuneric <18),
gonstraint pk_section RLID primary keyCcourselD. seclD. semester. year>

buery ok! 8 rous affected €0.26 sec>
ysql> show tables;

varchar<18)
varchar<18)
varchar<18>
decinal<1@, 8>

secID
Semester
vear i
rous in set <B.01 sec)

wsql> insert into section Ri values(IT244.1,’sunner’ 201633
RROR 1854 (42822>: Unknoun column 'IT244’ in ’field list
nysql> insert into section Ri valuesC’11244’.1,’sunmer’,26163
Query OK. 1 rou affected <B.11 sec>

nysql> insert inte section Ri valuesC’11244’,2,’spring’.2016;
Query OK, 1 rou affected <B.04 sec)

nysql> insert inte section Ri values(’BI0123’,2,’Fall’,2015);
Query OK. 1 rou affected (8.87 sec>

nysql> insert inte section Ri valuesC’11218’.4,spring’.2616;
Query OK, 1 rou affected <B.05 sec)

nysql> insert into section Ri values(’11218’.4.’spring’,2816;

ERROR 1062 (23088>: Duplicate entry ’11218-4"spring—2816° for key ’PRIMARY
nysql> insert inte section Ri valuesC’HIS222’.3,"Fall’.2015);

Query OK. 1 rou affected <B.96 sec>

nysql> selectx from section Ri;

BIO123
HIS222

Fall
Fall

11210 spring
11244 Sunnex
11244 spring
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Tine 2
wsql3 create table section2 R2C
=2 courselD varchar(iBreferences course,
-3 secID varchar(18),
-3 building varchar {28)references classroon,
-3 roomnunber int(18) references classroon.
gonstraint pk_section2 R2 primary key(courselD, secID>

buery ok! 8 rous affected €0.63 sec>
ysql> show tables;
n_section2_»2

section2_r2
wsql> dese section2 R23

courselD
secID
building
roomnunber

varchar<18)
varchar<10)
varchar<20>
int<18)

rous in set <B8.07 sec)

wsql> insert into section2 R2 values(’1T244’.1,’Riyadh’ 55533
Query OK. 1 rou affected <8.87 sec)

nysql> insert into section2 R2 values<’IT244’.2,°Rivadh’,551>;
Query OK. 1 rou affected <8.85 sec)

nysql> insert into section2 R2 values<’BIO123’.2,’Danman’ 43533
Query OK. 1 rou affected <888 sec)

nysql> insert inte section2 R2 values<’ IT218’.4,’Danman’ 5673
Query OK. 1 rou affected <8.85 sec)

nysql> insert into section2 R2 valuesC’HIS222.3,’Jeddah’.434>;
Query OK. 1 rou affected <8.85 sec)

nysql> selectx from section2 R2;
roomnunber

BIO123 Dannan

HIS222 Jeddah
11210 Danman
11244 Rivadh
11244 Rigadh

5 rous in set <8.00 sec)

nysql> _
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rous in set <B8.08 sec)

ysql> use section2 R3;
patabase changed
wsqly create table section2 R3C
=3 building varchar (28)references classroon,
-3 roonnunber int({@references classroon,
=3 gonstraint pk_sectionz RIID prinary kehCbuilding. roomnunber>
huery 0K, @ rous affected <8.88 sec)

ysql> show tables;

building
roomnunber

rous in set <B8.07 sec)

wsql> insert into section2 R3 valuesC’Rivadh’,555);
Query OK. 1 rou affected (8.96 sec)

nysql> insert into section2 R3 values<’Riyadh’ 55133
Query OK. 1 rou affected <8.98 sec)

nysql> insert into section2 R3 values<’Damman’,435);
Query OK. 1 rou affected <8.85 sec)

nysql> insert into section2 R3 values<’Damman’ 5673
Query OK. 1 rou affected <8.85 sec)

nysql> insert into section2 R3 values<’Jeddah’,434>;
Query OK. 1 rou affected <8.98 sec)

nysql> selectx from section2 R3;

roomnunber

building

Danman
Dannan
Jeddah
Rivadh
Rigadh

rous in set <8.00 sec)

nysql>




image23.png
Create, table takes RiC
=3 SID int (28>references student,
-3 courselD varchar(iBireferences course,
-3 secID varchar (18>,
-3 semester varcharc1),
=) year nuneric®>,
conotraint pk_takes RLID prinary key(sID,courseID,secID, sonoster. yoar>

RROR 1020 C42501>:
wsql> show tables;

Table ’takes_»1’ already exists

sI1D int<20>
courseID | varcharc1@)
secID varchar<18)
semester | varcharc18)
year decinalc1®, 8>

rous in set <B8.00 sec)
wsql> insert into takes Ri values(123,’11244’.1.’sunmer’,2816)5

RROR 1862 (23808>: Duplicate entry ’133-1T24471 sunmer-2016” For key ’PRIMARY
nysql> insert into takes Ri values(167, BIO123’,2,’Fall’,2015);

Query OK. 1 rou affected (8.83 sec)

nysql> insert into takes Ri values(123,’IT210’.4,’spring’.28163;
Query OK. 1 rou affected (8.85 sec)

nysql> insert into takes Ri values(145,’HIS222’.3,’Fall’,2015);
Query OK. 1 rou affected (8.85 sec)

mysal> selectx fron takes Ris

spring

Fall
spring
Fall

rous in set <8.00 sec)

nysql>





image24.png
Create. tablo takes R2C
=3 SID_int(@references student.,
-3 courselD varchar (iB>references course.
-3 grade int<10),
constraint’ pk takes R2ID prinary key(oID,courselD)

buery ok! 8 rous affected €0.09 sec>
ysql> show tables;

rous in set <B8.00 sec)

wsql> insert into takes R2 values(123,’1T244’,99);
buery 0K, 1 row affected (8.87 sec>

nysql> insert inte takes R2 values(156,’ [T244
Query OK. 1 rou affected (8.85 sec)

.80
nysql> insert into takes B2 values(167,’BI0123’,97>;
Query OK. 1 rou affected (8.96 sec)

nysql> insert inte takes R2 values(123,’IT210’,88;
Query OK. 1 rou affected (8.88 sec)

nysql> insert into takes B2 values(145,’HIS222’.89>;
Query OK. 1 rou affected (8.85 sec)

mysal> selectx fron takes R2;

5 rous in set <8.00 sec)

nysql>
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create table teaches<
> iID int (1B>references instructor.
-3 courselD varchar(iBireferences course,
-3 secID varchar(18).
-3 semester varcharci,
=) year nunerici®>,
gonotraint pk_teichesD prinary key(ilD,courselD.seclD,senoster, yoar>

buery ok! 8 rous affected €0.08 sec>
ysql> show tables;

courselD
secID
Semester

varchar<18)
varchar<18)
varchar<18>
decinal<1@, 8>

nysql> insert into teaches values(2222,’IT244’,1,’ sunner’ 281633
Query OK. 1 rou affected <8.86 sec>

nysql> insert into teaches values(2222,°IT244°,2,”spring’ 201635
Query OK. 1 rou affected <8.88 sec>

nysql> insert into teaches values(8381,’BI0123’,2,’Fall’,2015);
Query OK. 1 rou affected <8.85 sec)

nysql> insert into teaches values(4556,°IT210°.4,”spring’ 201635
Query OK. 1 rou affected <8.85 sec)

nysql> insert into teaches values(1212,’HIS222’.3,’Fall’,2015);
Query OK. 1 rou affected <8.85 sec)

mysal> selectx fron teaches 5
semester

HIS222
11244
11244
11210
BI0123

Fall
spring
spring
Fall
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=> Toonnunher int<10>,
> constraint pk_classroonID primary key(huilding, roomnunber);
RROR 1864 <42006): You have an crror in your SQL syntax; check the manual that
orrosponds o your MySQL server version For the right syntax to use near '* st
wsql> create table classroom_ri(

=> huilding varchar<28),

> roonnunber int<10>,

=3 gonstraint pk claséroonID prinary key<huilding, roonnunber
puery 0K, 8 rous affected <8.86 sec>

ysql> show tables;

building
roomnunber

rous in set <B8.00 sec)

wsql> insert into classroon ri valuesCRiyadh’,5553;
Query OK. 1 rou affected <8.86 sec)

nysq1> insert inte classroom rd values(’Danman’ 4353
Query OK. 1 rou affected <8.88 sec)

nysq1> insert inte classroom »d values(’Jeddah’ 43433
Query OK. 1 rou affected <8.81 sec)

nysql> insert inte classroom ri values(’Abha’,6663
Query OK. 1 rou affected <8.88 sec)

nysq1> insert inte classroon xd values(’Madina’, 7673
Query OK. 1 rou affected <8.87 sec)

nysql> select from classroon_rl;

building ! roomnunber

rous in set <8.00 sec)

nysql> _
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section
section2_r2
section2 3
section rl
section »2
section »3
takes 1
takes 2
teaches
test

4 rous in set <8.08 sec)

wsql> use classroom x2;
patabase changed
wsqly create table classroom »2(
=3 building varchar(2).,
=5 capacity int(18);
RROR 1864 (42008>: You have an error in your SQL syntax; check the manual that
grrogponds to your MySQL server version for the right syncax to use near '’ at
wsql) create table classroom x2(
=2 building varchar<2),
-3 capacity int(18),
=3 gonstraint pk_clissroon »21D prinary keyChuilding)
huery 0K, @ rous affected <8.15 sec)

wsql> insert into classroon r2 valuesC’Riyadh’,38;
Query OK. 1 rou affected <8.89 sec)

nysql> insert inte classroom x2 values(’Damman’,253;
Query OK. 1 rou affected <8.85 sec)

nysq1> insert into classroom x2 valuesC’Jeddah’ 2533
Query OK. 1 rou affected <8.88 sec)

nysq1> insert inte classroom »2 valuesC’Abha’,353;
Query OK. 1 rou affected <8.88 sec)

nysql> insert inte classroom »2 values(’Madina’,28);
Query OK. 1 rou affected <8.86 sec)

nysql> select from classroon_r2;

building | capacity

rous in set <B8.00 sec)

nysql>
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wsql> select name

=5 from instructor

-> where deptnane=’IT’ and salary>50008;
mpty set <8.89 sec)

wsql>
wsql>
wsqly select name
=5 from instructor
-> where deptnane="IT’ and salary>5080;
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wsqly select email
=5 from iemail
2125

H12120gmail.con
hanid@yahoo _com
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=3 from gives
> where ilD=1212;
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wsql> select=
=3 from department
-5 where hudget=80i

deptnane

11
Biology

rous in set <8.00 sec)

1>
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wsqly select courselD
=3 Fron section xi
=3 where’ Zemester=’ sunner’ and year-2016 and
23 Jourseid incaslect courseld
=3 Flon Cection i
=3 Uhere senesters’ fall’and year-20153;
mpty sot <B.15 secs

wsaly select courselD
3 Fron section xt
Con=r sunner’ and_year-2016 and
CGolect courseld

spring’and year-2016>3
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weal> shaoy databasess
RROR 1064 (42000>: ¥ou have an exror in your SQL syntax:
oxresponds to your MUSQL server vension Fom the right syntax to use near *shaoul

Gatabhsess at line 1
13 how datab

Taformation achons
st
Rresias]

fr

22on
octions v
seetion s
Soctionce H
soeend H
st 3

e
] H
tektie i
e i

4 rous in set <0.61 sec>
sql> use section2 2
atabase changed
Sealy gelect secid

=3 Eron sectionz_x2

=3 where huilding-’ Rivadh’

2 vous in set <B.17 sec)

check the manual that




image34.png
wsal z

wsald
wsql>
1

infornation_schena
clagsroon 11
Classroonr2
nysal
Section
section2_r2
section2_r3
Section rl
Sectionxz
Sectionxd
takes xT
takes x2
toaches

toot

4 rous in set (9.60 sec)
wsql> use teaches;
atabase changed
wsql) select count(ilD)
=5 fron teaches
-> uhere semestes

spring’and year=20163

{ vou in set <0.08 sec>

nysql>
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